













































































































for approximating area under a curve

Approximate the area

under the curve between

x I and 2 4

We can do this with the sum of 3 trapezia

Area of trapezium at b h
a

b

Area t bots h yity h yay h

hz yo ty t yity 92 73

I so 2 y tye ty

1 214 97 16

2 43 21.5

In general for n strips
Are t yot2 gets t ya e yn

Trapezium Rule



1. Here is a speed-time graph for a toy rocket.

(a) Work out an estimate for the distance the rocket travelled in the 16 seconds.
Use 4 strips of equal width.

………………..m
(3)

(b) Is your answer to (a) an underestimate or an overestimate of the actual distance 
the rocket travelled?
Give a reason for your answer

……………………………………………………………………………………………

……………………………………………………………………………………………
(1)
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Speed 
(m/s) Yz

y 53

yo h h h h 44

Area I To 2 yity tgs ya

I 0 2 9.8 13.2 9.8 0

131.2 m

Underestimate because the trapezia are

all below the curve



2. Here is a velocity time graph for the first 60 seconds of a journey.

�

Calculate an estimate for the total distance travelled in the 60 seconds.

………………..m
(5)
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h h h h h h

Distance I got 2 g tyrtystyatys ya

I 10 212.4 8.4 5.6 8 106 12.8

564m


